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veesš : meYeer heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ FkeâeF& mes Skeâ ØeMve

keâjvee DeefveJeeÙe& nw~ meYeer ØeMveeW kesâ Debkeâ meceeve nQ~

Note : Attempt all the five questions. One question from

each unit is compulsory. All questions carry equal

marks.

FkeâeF& - I / Unit - I

Q. 1. mecebkeâeW kesâ JeieeakeâjCe kesâ keäÙee GösMÙe nQ ? JeieeakeâjCe keâer efJeefYevve

jerefleÙeeW keâer JÙeeKÙee keâerefpeÙes~
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STATISTICAL ANALYSIS

Time Allowed : Three Hours
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Minimum Pass Marks : 17

What are the objects of classification of data ?

Discuss the different methods of classification.

DeLeJee / Or

efvecve efJelejCe keâe ceeOÙe 25 nw~ De%eele DeeJe=efòeÙeeB %eele keâjW :

Jeie& Devlejeue yeejcyeejlee (DeeJe=efòe)

  0 — 10 3

10 — 20 7

20 — 30 ?

30 — 40 6

40 — 50 ?

50 — 60 1

Mean of the following distribution is 25. Find out the

missing frequencies :

Class Interval Frequencies

   0 – 10 3

10 – 20 7
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20 – 30 ?

30 – 40 6

40 – 50 ?

50 – 60 1

FkeâeF& - II / Unit - II

Q. 2. Øeceehe efJeÛeueve keâes DeheefkeâjCe kesâ DevÙe ceeheeW keâer leguevee ceW

DeefOekeâ DeÛÚe keäÙeeW ceevee peelee nw ? Fmekesâ ØecegKe oes<e keäÙee nQ ?

Explain why the standard deviation is regarded as

superior to other measures of dispersion ? What

is its chief defect.

DeLeJee / Or

efvecve DeebkeâÌ[eW mes keâeue& efheÙeme&ve keâe efJe<ecelee iegCeebkeâ %eele keâerefpeÙes :

Debkeâ DeeJe=efòeÙeeB

0 — 10 5

0 — 20 20

0 — 30 50

0 — 40 100

0 — 50 180

0 — 60 280

0 — 70 400

0 — 80 525

From the data given below, find Karl Pearson's co-

efficient of skewness :

Marks Frequencies

 0 – 10 5

 0 – 20 20

  0 – 30 50

 0 – 40 100

0 – 50 180

 0 – 60 280

  0 – 70 400

 0 – 80 525
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FkeâeF& - III / Unit - III

Q. 3. ØeeLeefcekeâ mecebkeâeW kesâ mebkeâueve ceW ØeÙegòeâ efJeefYevve efJeefOeÙeeW kesâ

iegCe–oes<eeW keâer efJeJesÛevee keâjles ngÙes Ùen yeleeFÙes efkeâ ØeMveeJeueer

efkeâve oMeeDeeW ceW GheÙegòeâ nesieer ?

Disucss the merits and demerits of different

methods of primary data collection and point out

the conditions suitable for the application of

questionnaire method.

DeLeJee / Or

efvecveefueefKele DeebkeâÌ[eW mes oesveeW Øeleerheieceve jsKeeDeeW kesâ meceerkeâjCe

%eele keâerefpeS :

x : 6 4 20 4 8

y : 9 20 10 8 7

From the following data obtain the two regression

lines :

x : 6 4 20 4 8

y : 9 20 10 8 7

FkeâeF& - IV / Unit - IV

Q. 4. GheYeeskeälee keâercele efveoxMeebkeâeW keâer jÛevee efkeâme Øekeâej keâer peeleer

nw ? GoenjCe meefnle efJeefYevve ÛejCeeW keâe JeCe&ve keâerefpeÙes~

How are consumer's price index are constructed ?

Describe the various steps with illustrations.

DeLeJee / Or

veerÛes efoÙes ieÙes DeebkeâÌ[eW mes vÙetvelece Jeie& jerefle Éeje Gheveefle cetuÙe

%eele keâerefpeÙes :

Je<e& Glheeove (efkeäJebšue ceW)

1991 14

1992 20

1993 24

1994 28

1995 34

1996 48



Calculate trend values by the method of least

squares from the data given below :

Year Production (in quintal)

1991 14

1992 20

1993 24

1994 28

1995 34

1996 48

FkeâeF& - V / Unit - V

Q. 5. ‘JÙeJemeeefÙekeâ hetJee&vegceeve’ DeeOegefvekeâ JÙeeheej keâer DeeBKeW nQ~ Fme

keâLeve keâer JÙeeKÙee keâerefpeÙes leLee JÙeJemeeefÙekeâ hetJee&vegceeve keâer

meerceeÙeW yeleeFÙes~

‘Business Forecasting’ is the eyes of modern

business. Comment upon this statement and point

out the limitations of business forecasting.

DeLeJee / Or

6 YeejleerÙe Deewj 4 Decesefjkeâve ceW mes 5 meomÙeeW keâer Skeâ keâcesšer

yeveeveer nw~ ØeeefÙekeâlee %eele keâerefpeÙes efkeâ GmeceW 2 YeejleerÙe DeJeMÙe

neW~

Out of 6 Indian and 4 Americans, a committee of

five is constituted. Find the probability that there

are exactly two Indian in it.

——
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veesš : meYeer heeBÛe ØeMveeW kesâ Gòej oerefpeÙes~ ØelÙeskeâ FkeâeF& mes Skeâ ØeMve

keâjvee DeefveJeeÙe& nw~ meYeer ØeMveeW kesâ Debkeâ meceeve nQ~

Note : Attempt all the five questions. One question from

each unit is compulsory. All questions carry equal

marks.

FkeâeF&—I / UNIT-I

Q. 1. Skeâ ßes‰ ceeOÙe keâer efJeMes<eleeDeeW keâes mecePeeFS~ Fve efJeMes<eleeDeeW

kesâ ØekeâeMe ceW Deehe efkeâme ceeOÙe keâes ßes‰ mecePeles nQ, Deewj keäÙeeW ?

Explain the properties of a good average. In the

light of these properties which average do you

think is the best and why ?

DeLeJee OR

efvecveefueefKele DeeJe=efòe efJelejCe mes meceevlej ceeOÙe, YetefÙe‰keâ

leLee ceeefOÙekeâe %eele keâerefpeS :

Mid value 95 105 115 125 135 145 155 165 175

Frequency 4 2 18 22 21 19 10 3 2

Calculate arithmetic mean, mode and median

from the following frequency distribution :

Mid value 95 105 115 125 135 145 155 165 175

Frequency (f ) 4 2 18 22 21 19 10 3 2

FkeâeF&—II / UNIT-II

Q. 2. DeheefkeâjCe keâer Skeâ ceehe kesâ ™he ceW, efJemleej, Øeceehe efJeÛeueve

leLee ceeOÙe efJeÛeueve kesâ meehesef#ekeâ iegCeeW keâe efJeJesÛeve keâerefpeS~

ceOÙe cetuÙe

DeeJe=efòe (f)
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Discuss the relative merits of range, standard

deviation and mean deviation as measures of

dispersion.

DeLeJee OR

GefÛele GoenjCe oskeâj ‘DeheefkeâjCe’ Meyo keâes mecePeeFS~

DeheefkeâjCe keâer kegâÚ meeceevÙe ceeheeW keâe GuuesKe keâjles ngS Gme

ceehe keâe efJeJejCe oerefpeS efpemes Deehe meJee&efOekeâ cenlJe keâe ceeveles

nQ~

Explain with suitable examples the term

'dispersion'. Mention some common measures

of dispersion and describe the one which you

think to do the most important of them.

FkeâeF&—III / UNIT-III

Q. 3. ‘men-mebyebOe’ leLee ‘Øeleerheieceve’ ceW Yeso keâerefpeS~ Øeleerheieceve

ceeheves keâer efJeefYevve efJeefOeÙeeW keâer efJeJesÛevee Yeer keâerefpeS~

Distinguish between 'Correlation' and 'Regression'.

Also discuss the various methods of measuring

regression.

DeLeJee OR

men-mebyebOe keâe DeLe& mecePeeles ngS Oeveelcekeâ leLee $e+Ceelcekeâ

men-mebyebOe kesâ ceOÙe Devlej mhe° keâerefpeS~

Discuss the meaning of correlation and

distinguish between positive and negative

correlation.

FkeâeF&—IV / UNIT-IV

Q. 4. ‘efveoxMeebkeâ’ keâer GheÙeesefielee mecePeeFS~ meeceevÙe leLee peerJeve-

efveJee&n efveoxMeebkeâeW keâer jÛevee ceW DeheveeÙeer peeves Jeeueer efJeefOe keâe

JeCe&ve keâerefpeS~
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Explain the uses of index numbers. Describe the

procedure followed in the preparation of general

and cost of living index numbers.

DeLeJee OR

efvecveebefkeâle mecebkeâeW mes efHeâMej kesâ DeeoMe& metÛekeâebkeâ keâer ieCevee

keâerefpeS~ keäÙee Ùen oesveeW lelJe-Gl›eâcÙelee SJeb meceÙe-Gl›eâcÙelee

hejer#eCe keâes DeeMJemle keâjlee nw ?

Jemleg        
 2005

      2006

keâercele cee$ee keâercele cee$ee

A 6 50 10 56

B 2 100 2 120

C 4 60 6 60

D 10 30 12 24

E 8 40 12 36

From the following data, calculate Fisher's Ideal

Index Number. Does it satisfy the both factor

reversal and time reversal test ?

Commodity      
2005        2006

Price Quantity Price Quantity

A 6 50 10 56

B 2 100 2 120

C 4 60 6 60

D 10 30 12 24

E 8 40 12 36

FkeâeF&—V / UNIT-V

Q. 5. oes heemeeW kesâ HeWâkeâves hej 7 Ùee 11 keâe Ùeesie Deeves keâer ØeeefÙekeâlee

%eele keâerefpeS~

Find out the probability of getting a total of either

7 or 11 in a single throw with two dice.

DeeOeej Je<e& Jele&ceeve Je<e&

Base year Current year
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DeLeJee OR

efJeefYevve Je<eeX keâer Skeâ keâcheveer keâer efye›eâer veerÛes oer ieF& nw~ Je<e&

2010 keâer efye›eâer %eele keâerefpeS :

Years : 2005 2006 2007 2008 2009

Sales : 7 9 36 14 16

The sales of a ompany is given below for different

years. Find out the sales for 2010 :

Years : 2005 2006 2007 2008 2009

Sales : 7 9 36 14 16

——

Je<e&

efye›eâer
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